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1 |int 1i,= 3;
2 |dntj3°=(ij System.out.println(i == 3V; _
3 |int k = 3; System.out.println(k == i && k == j
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1 | Point @@ e 9 3) T -f;o He Joee 9%?[17
2 P01nt f 3. ) System out. println A

3 Pouvt@ new P01ntO 3 >

4 | Systme.out.println(p3 l @ p3== p

65| Systme.out.println \p Xe&& p3.y =

6 | Systme.out. prlntln(pS’ S~F='p2.xH& p3.y ==

class Point { [’d
double x; _( ﬁaf;e},f;@ ,’ZM
double y; (¢
Point(double x, double y) {
this.x = x;
this.y = vy;
b
b
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Problem: Consider assignments to primitive variables:

int i1 = 1;
int 12 = 2;
int i3 = 3; 0o 1 27
int[] numbersl = ﬂll}(lZ) CEQ
int[] numbers2 = hew int [numbersl.length];
-_—
for(int 1 = 0; 4 < numbersl.length; i ++) {
b 2011 = b 1[1]; ~
}num ersZ[1i] num ers__[l] VISZ[ﬁ]:- 4&1&7—:{

182 (1] = el {27
System.out.println(numbersl ) ;
System.out.println(numbers2 ) ;L
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numbersl [@] = '4; L”
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Problem: Consider assignments to reference variables:

Person alan = new Person("Alan");
Person mark = new Person("Mark");

Person tom = new Person("Tom");

Person jim = new P rson("SIﬁm); =
Person|] personsl@__{‘afan, mark, tom);
Person|[] perso = new Person[perso‘ﬁsl.length];
for(int 1 = O;@< personsl.length; i ++) |
rpersonSZ[i] = personsl[i]; '}

System.out.println(jim.age)
System.out.println(alan.age
(

7
)i
System.out.println(persons2[0].age); 1—

personsl[0] = jim;

personsl[0].setAge(75);
System.out.println(jim.age); @
System.out.println(alan.age);
System.out.println(persons2[0].age);
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pérsonsi[U] .setAge(70); —S O .
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